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using namespace std;

int main()

int target, guess
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break;
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using namespace std;

lint main () {
srand (time (0))
int target = randi() % 100 + 1;:
int guess;

int lower = 1, upper = 100;
int attempts = 0:

cout << ™ F (1 FI 100 28l - \n":
1 do
guess = lower + rand() % (upper — lower + 1);
attemptst+;
cout << "AI FFll: " << guess << endl;
1 if (guess > target) {
cout << "FIAIL! \n";
upper = guess - 1
} else if (guess < tazget) 1
cout << "Zulaal! \n
lower = guess +
} else {
cout << "JEIE.UL ! LLBELSSHI T RE " << target << endl:
cout << "EEALIEIIN=C 8 " << attempts << endl;
H
} while (guess != target):
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}else if (C==3) { AR
int guess, target
cout << "

cin >> target;
while (lower <= upper) {

attempts++;

guess = (lower + upper) / 2;

if (guess == target) {
cout << "AI FH¥I T ! 48IEEE T " << attempts << " L ¢ " << endl
break;

} else if (guess > target) {
upper = guess - 1;

} else |
lower = guess + 1;

}
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int target=o0;
int attempts=0, lower=1, upper=k, b;

upperas kbl L) {

oOwer + (upper — lower) * GOLDEN_RATIO;

uppP 12z
} else if (gu < target) {
lower = [ ;
} else |
cout << "I I+‘“‘J :'3'.' " << target << endl:;
cout << "&b gEg HI - g5 - - 1ttﬁmpt= << endl;
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